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How mwoudd O /j"/i/n,d 2/5 oxj" 307

? As a4 mom- umit /f/ra,C/t/L/cr/n - what does that mean?

First, dinvide 30 into 5 ,e,ch/u,Q/l QGrOMRA .

2 of 30:12
Then count 2 of those groups. 5\
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What is a4 umnit /‘f/r/a/C/t/L,om?
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O0dd ome ocnt - which do oM Ahimnk is Ahe odd one ocuit?
W/h/lé? Whats Nour reasom?
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How d.o oA {/i/n,d /h,axl{ /o/f an amount?

/h,a/{/(f /o/(f 0] =

o0 L of20 =0
o0
@,

2

Share the 20 coumnters ,eqlxu,a/{/{/té heiweemn 2

A}/Y'/O'AL/P/S.
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Wh.at /i/f Ahe numhber is Aoo /b/i,q Ao work /p./r/a/C/t/L/C/a/{/{/lé?
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)
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Hodf the tens, then half the omes. hadf of b is 2 half of 8

The comhine the answers. a0 hadf of 40 is A b
20

/pa/r/tA/tAam L8 imio tems and omnes

AO /h,o./{{ ,o/j‘ L8 is 24
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Partitiom {/’L/r/s/t

half 6L = @
haAf of 6 is 3 haAf of b is 2
SO /h,Q/{/f ,04" 60
As 30.

/h,o./l/f /o/j 6Lk is Ahere /f/o/r,e 32
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How Ao oA {/t/n/d a Ahird ,o/f /s/cr/m,e/t/h/t/n,q?

a Ahird ,04{ 2| =

L oof2=7
3

Rememher Ao dinide /b./lé Ahe denominator.

Dinide Anto 3 zq]ma/{ /p/our/t/s.




